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Cent0S Linux ? (Core)
Kernel 3.18.8—95?.61?.x86_64 on an x86_64

localhost login:

Cent0S Linux ? (Core)

Kernel 3.18.8-957 .el?.x86_64 on an x86_64

loaclhost login: xinertel
Password: _
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Last login: Wed Nov 4 11:43:09 from 127.0.0.1

Xinertel# ip 16.0.1.243

Xinertel# netmask 255.255.0.0
Xinertel# activate

Restarting network (via systemctl):
Xinertel# cur_set

Xinertel# |
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reply from: 10.10.10.20 bytes=32 elapsed time: 2ms
reply from: 10.10.10.20 time out

reply from: 10.10.10.20 bytes=32 elapsed time: Oms
reply from: 10.10.10.20 time out

reply from: 10.10.10.20 bytes=32 elapsed time: 1ms
reply from: 10.10.10.20 time out

reply from: 10.10.10.20 bytes=32 elapsed time: Oms
reply from: 10.10.10.20 time out

reply from: 10.10.10.20 bytes=32 elapsed time: 1ms
reply from: 10.10.10.20 time out

Ping statistic:

Sent Packets: 10 Received Packets: 5 lost: 5 <50.0%>
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